

PME-3380

Aluno: Luiz Ricardo de Sousa Cruz, N° USP 10334961

①  $L[A b(t)] = \int_{-\infty}^{\infty} A b(t) e^{-st} dt = A \int_{-\infty}^{\infty} b(t) e^{-st} dt \Rightarrow L[A b(t)] = A F(s)$

②  $L[b_1(t) \pm b_2(t)] = \int_{-\infty}^{\infty} (b_1(t) \pm b_2(t)) e^{-st} dt \Rightarrow L[b_1(t) \pm b_2(t)] = F_1(s) \pm F_2(s)$

③  $L[\int_0^t F(\tau) d\tau] = \int_{-\infty}^{\infty} e^{-st} d\tau \int_0^t b(\tau) d\tau = -\frac{e^{-st}}{s} \Big|_0^t \int_0^t b(\tau) d\tau = \frac{1}{s} \int_0^t b(\tau) d\tau e^{-st} \Rightarrow L[\int_0^t b(\tau) d\tau] = b(s)/s$

④  $L[e^{-\alpha t} b(t)] = \int_{-\infty}^{\infty} e^{-\alpha t} e^{-st} b(t) dt = \int_{-\infty}^{\infty} e^{-(\alpha+s)t} b(t) dt \Rightarrow L[e^{-\alpha t} b(t)] = F(s+\alpha)$

⑤  $L[b(\frac{t}{a})] = L[b(u)] = \int_{-\infty}^{\infty} b(u) e^{-sua} du \Rightarrow L[b(\frac{t}{a})] = a F(as)$

⑥  $\lim_{t \rightarrow 0} b(t) = \lim_{s \rightarrow \infty} s F(s) \Rightarrow L[b(t)] = s F(s) - b(0) \Rightarrow \lim_{s \rightarrow \infty} [s F(s)] = \lim_{s \rightarrow \infty} s F(s) - b(0)$   
 $\int_0^{\infty} b(t) \lim_{s \rightarrow \infty} e^{-st} dt = 0 = \lim_{s \rightarrow \infty} s F(s) - b(0) \Rightarrow \lim_{t \rightarrow 0} b(t) = \lim_{s \rightarrow \infty} s F(s)$

⑦  $L[e^{-at}] = \int_0^{\infty} e^{-at} e^{-st} dt = \int_0^{\infty} e^{-(a+s)t} dt = \frac{-1}{a+s} e^{-(a+s)t} \Big|_0^{\infty} \Rightarrow L[e^{-at}] = \frac{1}{a+s}$

⑧  $L[t \cdot e^{-at}] = \int_0^{\infty} t e^{-(s+a)t} dt = \int_0^{\infty} g(t) e^{-st} dt = G(s) = -\frac{\partial F(s)}{\partial s} \Rightarrow L[t \cdot e^{-at}] = \frac{1}{(s+a)^2}$

⑨  $y = L[\text{sen } \omega t] = \int_0^{\infty} \text{sen } \omega t e^{-st} dt \Rightarrow u = e^{-st} \Rightarrow u' = -\frac{1}{s} e^{-st} \Rightarrow v = \text{sen } \omega t$   
 $y = -\frac{1}{s} e^{-st} \text{sen } \omega t - \int_0^{\infty} \omega \text{cos } \omega t (-\frac{1}{s} e^{-st}) dt = -\frac{e^{-st}}{s} \text{sen } \omega t + \frac{\omega}{s} \int_0^{\infty} \text{cos } \omega t e^{-st} dt$

$y = -\frac{e^{-st}}{s} \text{sen } \omega t + \frac{\omega}{s} [-\frac{e^{-st}}{\omega} \text{cos } \omega t - \int_0^{\infty} \frac{e^{-st}}{\omega} (\omega \text{sen } \omega t) dt]$

$y = -\frac{e^{-st}}{s} \text{sen } \omega t - \frac{\omega}{s^2} e^{-st} \text{cos } \omega t - \frac{\omega^2}{s^2} \int_0^{\infty} (e^{-st} \text{sen } \omega t) dt = \int_0^{\infty} \text{sen } \omega t e^{-st} dt$

$(\int_0^{\infty} \text{sen } \omega t e^{-st} dt) (1 + \frac{\omega^2}{s^2}) = [-\frac{e^{-st}}{s} (\frac{1}{s} \text{sen } \omega t + \frac{\omega}{s^2} \text{cos } \omega t)]_0^{\infty} = 0 - (-1) (\frac{0 + \omega}{s^2}) = \frac{\omega}{s^2}$

$\int_0^{\infty} \text{sen } \omega t e^{-st} dt = \frac{s^2}{s^2 + \omega^2} \cdot \frac{\omega}{s^2} = \frac{\omega}{s^2 + \omega^2}$

⑩  $L[\int_0^t b(t-\tau) g(\tau) d\tau] = L[\int_0^t b(\tau) g(t-\tau) d\tau] = y = \int_0^{\infty} b(\tau) \int_{\tau}^{\infty} g(t-\tau) e^{-st} dt d\tau = \int_0^{\infty} b(\tau) \int_0^{\infty} g(u) e^{-s(u+\tau)} du d\tau \Rightarrow y = F(s) G(s)$

⑪  $y(s) = G(s) \cdot U(s) = G(s) \cdot 1 \Rightarrow y(s) = \frac{7}{3} (\frac{1}{s+1}) + \frac{3}{2} (\frac{1}{s+2}) + \frac{1}{6} (\frac{1}{s+4}) = G(s)$

⑫  $\frac{\partial y_2(t)}{\partial t} = \frac{7}{3} e^{-t} - 3 e^{-2t} + \frac{1}{6} e^{-4t} = y_1(t) \Rightarrow G(s) = \frac{7}{3} (\frac{1}{s+1}) - 3 (\frac{1}{s+2}) + \frac{1}{6} (\frac{1}{s+4})$

⑬  $G_1(s) = \frac{JLa s^3 + (RaJ + BLa) s^2 + (RaB + Kk_1) s}{JLa s^3 + (RaJ + BLa) s^2 + (RaB + Kk_1) s} = 0 \Rightarrow \Delta_1 = 0$

$JLa s^3 + (RaJ + BLa) s^2 + (RaB + Kk_1) s = 0 \Rightarrow \Delta_1 = 0$

$s_2 = \frac{-\sqrt{B^2 L^2 a^2 - 2JLa(BRa + 2Kk_1)} + J^2 R^2 + BLa + JRa}{2JLa}$

$s_3 = \frac{\sqrt{B^2 L^2 a^2 - 2JLa(BRa + 2Kk_1)} + J^2 R^2 - BLa - JRa}{2JLa}$